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50cm 0.13 0.13 L X
ZRMTSIUR
1m 0.12 0.13
50cm 0.15 0.15 L o
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1m 0.14 0.15
50cm 0.11 0.12 .
AEREEEG
1m 0.10 0.12
50cm 0.09 0.10
229 KXEM EFNR |AEEHLE 9829H FZAR3—M
1m 0.09 0.09
50cm 0.09 F=za—k2
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1m 0.08 0.08
50cm 0.22 0.24 -
FHATEDRSILETEIS
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FEki5
1m 0.08 0.08
N . i 50cm 0.08 008 _
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1m 0.08 0.08
50cm 0.24 025
RBEIE
1m 0.23 0.24
) 50cm 0.13 0.14
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1m 0.13 0.14
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1m 0.14 0.15
232 N HEAR |(fELUE g2 ————HV}p—- — +— .
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AR L5
1m 0.10 0.11
) 50cm 0.11 0.12
233 KXEM #HEARE |FAELE 98 28H
1m 0.12 0.12
) _ 50cm 0.13 0.13
234 KXEM #HEARE |HFLLE 9829H
1m 0.12 0.13
) 50cm 0.16 0.17
235 AEM #HEAR |HFALE 98298
1m 0.16 0.16
3 o 50cm 0.10 0.10
236 KEM #HEAE |ATENEFEI12E 9H28H
1m 0.10 0.10
3 o 50cm 0.12 0.11
237 N HRAE |ATENEE20E 9A28H
1m 0.12 0.10
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1m 0.14 0.14
N 50cm 0.10 0.10
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1m 0.10 0.10
50cm 0.23 0.23|
MR EG
1m 0.22 0.23
50cm 0.13 0.15
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. 50cm 0.11 0.12
243 AET B REZE 9H28H R
1m 0.12 0.11
50cm 0.10 0.10
]
1m 0.10 0.10
i R 50cm 0.07 0.08
244 KEM #HELR |HATEHNEEILE 98 28H
1m 0.08 0.08
i R 50cm 0.08 0.08
245 XEM #HELAR |ATENEFEILE 98 28H
1m 0.08 0.08
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